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@atta >= 1:
node: attribute atta = 2
node: attribute atta = 3

@atta >= -1:
the error from \xmlfilter{#1}{/[number(@atta) >= -1]/command(demo:numberfail:node)}:

xml > lpath > error in expression: number(@atta) >= -1 => expr.number((ll.at
and ll.at['atta'])) >= expr.child(ll,'-')1

the error from \xmlfilter{#1}{/[number(@atta) >= number(-1)]/command(demo:numberfail:node)}:

xml > lpath > error in expression: number(@atta) >= number(-1) => expr.number((ll.at
and ll.at['atta'])) >= expr.number(expr.child(ll,'-')1)


